N & 0 & AFESE H MHl A
2023EE 20 ABHEN BALS
2N B#AREDY
HE: RSP SH(SY/BL 2oL
ol EEzaR (ol xi2l)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
ST 36,675,575 34,366,298 2,300,277
= 5,971,750
= 709,000
| 112,280
= 3,960,902
Al 25,451,643
= 450,000
NEEEEREEESEEEED) 4,734,950 578,027 4.156,923
= 115,000
y 6,000
= 1,969,390
Al 2,194,560
= 450,000
SR 3,843,630 98,567 3,745,063
y 6,000
= 1,901,800
Al 1,935,830
REENES 21,510 84,767 163,257
201 AEr2 | 3,160 3,160 0
01 Al=2elt| 3,160 3,160 0
OOHHICI2! 2% RS 5|2 &Aset
70,0002 %12 *23] 1,680
OBBLHN2S9IAE 30| HHaL
70,000& %7 *23 980
O=SAFE [Tz QYA 7Y
100,0002+5S 500
206 NN=H| 1,350 1,350
01 =0l 1,350 1,350 0
OMEIZ2 22| 2 Y BHAZ 2 1,350
—AEH Y ADH 15,00024*507 750
—=gtdl= 10,000 *60 £ 600
207 IR 10,000 73,860 63,860
NIRRT 10,000 73,860 63,860
OP022E BEUA HIZ 2
10,000, 00021+ 14! 10,000
401 AIE0 22 0HY] 7,000 2,000 5,000
01 AlZHI 7,000 2,000 5,000
OOMMES 54 SUEL(0INS, H4d)
2,000,000@+14! 2,000
O=A4x U MEZ 22
5,000,002 % 14! 5,000
EEEEN 10,120 1,800 8,320
301 LErEN= 2.720 0 2,720
TIEEREE 2.720 0 2.720




SA: BFESD)
I QIS N (s /25t
el ElEtdate] (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OSHSAZHRA} 50,0002 %20 23] 2,000
OXIZO 2184 AL ZA X0
90,0004 *23] 20
307 CI2H0IA 7,400 1,800 5,600
02 DIEEAMAIIE X 7,400 1,800 5,600
OSACH < Dl2ld, ARl AASB(BXS 90%)
6,000,00021%141%90/100 5,400
OO0f2I0| BBESAAM BHE L &HFF
MHOI(BXE 80%)
2,500,00024% 141%80/100 2,000
(2)IRAEEAA EEA X 12,000 12,000 0
Il 6,000
[ 1,800
Al 4,200
307 BI2H0IA 12,000 12,000 0
ol 6,000
[ 1,800
Al 4,200
02 QIFHAAII B R 12,000 12,000 0
OEAZEME AMSE AKX
12,000,000 % 14! 12,000
ol 6,000
[ 1,800
Al 4,200
(S)AHAZS2 TIIME] & TAAFI(HEAR) 2,600,000 0 2,600,000
[ 1,300,000
Al 1,300,000
401 AlSHI L2 2,600,000 0 2,600,000
[ 1,300,000
Al 1,300,000
01 Al&H 2,552,160 0 2,552,160
OAHAZ22! THHME] & RAALY
2,552,160,00024 14! 2,552,160
[ 1,276,080
Al 1,276,080
02 22l 38,480 0 38,480
OABAR2 TIHME] & TAANY
38,480,000 % 14! 38,480
[ 19,240
Al 19,240
03 AlZSHY| 9,360 0 9,360
OABAR2 TIHME] & EAAMY
9,360,000 % 14! 9,360
[ 4,680
Al 4,680




SN 2AESD)

I NHSHLR(2E/2E25UL)

S SEsac (Etel: F2)
S - ZE - SI(SH) - MIRAR - BES ol &kt ] B2t
(S)2LLE O MEHS R THA (MEALY) 1,200,000 0 1,200,000

[ 600,000
Al 600,000
401 AlZHIL 20| 1,200,000 0 1,200,000
[ 600,000
Al 600,000
01 Al&HI 1,177,320 0 1,177,320
OS24 01| MEfZS EAAIY
1,177.,320,00024 14l 1,177,320
[ 588,660
Al 588,660
02 22l 18,360 0 18,360
OSLAH 01| MEfZS ELAIY
18,360,0002* 14! 18,360
[ 9,180
Al 9,180
03 Al& S| 4,320 0 4,320
OSAF 17| MEfZS EMAIY
4,320,000 14! 4,320
[ 2,160
Al 2,160
OHSAIS B35 891,320 479,460 411,860
= 115,000
[ 67,590
Al 258,730
= 450,000
OREsAlE 22| 101,020 76,060 24,960
201 LEt2HH 31,420 15,460 15,960
01 AF22t2IHI 20,500 4,900 15,600
OSorsE Zal 2ol Al Iz
1,00024%2, 0004 2,000
OOMSS Uch Bl Jis 2 otAs 1Y
100,000 *52 500
OOHMEAIZ H2I(ASF, JtAlE S) | ARt2
600,00024*30 18,000
02 2229 10,920 360
OSMOMMSS TaHeX 282
320,00024*30% 9,600
OOMESESHE &I
960,000 % 14! 960
OOHAHSU G X T &I &
15,0002 *2CH+ 12 360
206 M=l 1,000
01 M2HI 1,000
OOMES T8 U g 2P 2 1 1,000




2N BAESY
B NoISd B (S8BT SA)
el OrlisAlE B35 (crel: M)
A EB - SRI(E) - KIRAY - BaS ol v ] HIDE2
—0I58 HlY S 1,5008! 10074 150
— M A3 5,000&*505£ 250
—ASH 12,0002 %5074 600
307 212t01 & 5,600 5,600 0
02 QIZHEAAIIE X 5,600 5,600 0
OOMEE TEEE NANY(SES 8)
7,000,000&*141%80/100 5,600
402 QIZEXHE0| 63,000 54,000 9,000
01 QIZFRHE2 A S & (REMITHE ) 63,000 54,000 9,000
OSHHOMMES TIHILAIL &5 N(LES 60%)
3,500,000 & *30J4-~*60/100 63,000
(=)ot SSUlooNg A 170,000 210,000 40,000
= 85,000
& 25,500
Al 59,500
402 2IRHX=01N 170,000 210,000 40,000
= 85,000
& 25,500
Al 59,500
02 QIR AL S E (0| HTHE ) 170,000 210,000 240,000
OOMS ST ol 2 AS
170,000,000 * 14 170,000
= 85,000
& 25,500
Al 59,500
(Z)0MSAE2ES 190,300 193,400 23,100
& 27,090
Al 63,210
= 100,000
101 2124d| 20,000 20,000 0
& 6,000
Al 14,000
04 J12tHI22 NS ES 20,000 20,000 0
OOMMMBESZAIR AL
10,000,000 *2H 20,000
& 6,000
Al 14,000
201 Let23| 43,800 48,900 A5, 100
& 13,140
Al 30,660
01 AtR2teld] 35,500 40,500 A5,000
OOMEE TESE 29
500,000 * 14! 500
& 150




SN BAESD
M NHSABN(EF/sdEse)
CHol: OMMEAS S5 () 25
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 350
OmoliotM == L= ALMIX 2l
35,000,000 * 14! 35,000
& 10,500
Al 24,500
02 Z323H| 8,300 8,400 A100
ORoliOtdsSEe/2e| A A 29
6,500,000 * 14 6,500
= 1,950
Al 4,550
oSS S T LR TR
1,800,000 %1 4! 1,800
& 540
Al 1,260
206 =4I 500 500 0
& 150
Al 350
01 MZHl 500 500 0
O0tdisE 90l 500,000 * 1A 500
& 150
Al 350
301 LBtE&Z 116,000 114,000 2,000
& 4,800
Al 11,200
= 100,000
14 JIEIE 43 116,000 114,000 2,000
ORolsESE2 A=
116,000, 000& * 14! 116,000
& 4,800
Al 11,200
= 100,000
302 OI=LTHoH 2 &= 10,000 10,000 0
& 3,000
Al 7,000
02 QRIS ESEAS 10,000 10,000 0
OOIMESTIH=T2HAS
100,000& %1004 10,000
& 3,000
Al 7,000
(S)MSOLESHA 195,000 0 195,000
& 6,000
Al 14,000
= 175,000
401 Al&HIZ 2 0HY| 195,000 0 195,000




2A:
X ZH -
(e

Sl

ol &k

MEE
Ol &k2H

in

m

6,000
14,000
175,000

01 AlZHI

OMEHH W BIOFMAIZS(DIAIZH) RIA A
195,000,000 14

=

I

195,000

195,000
6,000
14,000
175,000

195,000

o

=

I

195,000
10,000
3,000
7,000
175,000

195,000

401 AlEHIZL S CHYI

hnoH

=

m

195,000
10,000
3,000
7,000
175,000

195,000

01 AlZHI

OMEHH WBHHS (OFAIZH HIDIAS
195,000,000 14

Mo

=

m

195,000

195,000
10,000
3,000
7,000
175,000

195,000

(2)ASF CHS SUIGHX] AlZRZ 2 HAFKIE

hnoH

=

40,000
20,000

6,000
14,000

40,000

101 21244l

hnoH

=

40,000
20,000

6,000
14,000

40,000

04 JIZtHI22 N SE=
O0rlES= AHMIHEl, AIZTHF & R

40,000,000 14

Mo

=

40,000

40,000
20,000

6,000
14,000

40,000

tolegzel(&38/21)

(=Tl

S

12,224,212
5,487,750
709,000
106,280

11,826,292

397,920




2 BAES
HI: |2l (2>/TD1)
ohelr Dl 38Xy (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
< 1,841,865
Al 4,079,317
VBIIEEZEY 12,191,548 11,803,828 387,720
= 5,487,750
z 709,000
p) 106,280
[ 1,841,865
Al 4,046,653
PIEEEEE] 186,248 144,874 41,374
201 L2 A 185,998 144,624 41,374
01 AbR2t2IHI 62,880 32,280 30,600
OXSIHIE A Sl =] 1,250
&Y= 150,000 +5%H 730
— QoM 3} 100,000 +5H 500
OAXE 2 DIMBIX M2 23 2 K012 HF
50,0002 %207 A #83 8,000
Ol +EE QAEH ADE 1 1,350
—otx| Al2 TED o
30,0002 *30H 900
—HIEYA AEMF 2] 2
3,000+ 1501 450
OXIHIX BAS AF 8
15,3002%2, 000CH 30,600
OOIMIZX THY| AR} 28
15,000, 0002 *1CH 15,000
OFISI22 oMU RS 24 BHargy
70,0002 %122 %23 1,680
OUIIRESH e 2
2,500,000 %274 A*13] 5,000
02 2229 123,118 112,344 10,774
OUIIAEMF X2HER) S|
1,81024%150 4 » 12 3,258
OUIINEIH T 22l S
500,000 1CH 500
OASEE)| S22l 200
—HTAA 222 100, 00024 * 1CH 100
—=c| ¥ A2FH| 100,000 * 1= 100
OODIMIZX 2IIE=HI|(loT) 29R=
2,300,0002* 122 27,600
OZHIY XNEHAR BHEIPCRS
20,0002 %122 240
OODINIgX| otA B2 KX
170,000 % 12 2,040
ODINIgX AEE KA
35,0006 A 128 2,520
OUIIQENSSHY AILEHl || 63,560




SA: SPESY
i |zl (2&/UD])
el Ol etExy (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
—AE3HIz Xzl 23,500, 0002 *2A! 47,000
—282 35,0002 %24 x 122 840
—Stles 230,000 24! x 122 5,520
—&Ies 200,000 24! x 12 4,800
—HCHA =2 675,000 *8Al 5,400
OS8RIBH SHEAAR(ItE 2ge= 23,200
—RANE+ESA 500,000 x4 A4S 8,000
— A& R X 22 500,000 44! 2,000
—SMes 250, 00024 +4 7 Ax 122 12,000
—&J1e3 25,0002 *4H A 122 1,200
301 LBIEAZ 250 250 0
14 JEI2A 2 250 250
OtZddal TAZ 50,000 %521 250
(2)EAZOIER It AHEIE XIZ 50,000 23,690 26,310
p) 25,000
[ 7,500
Al 17,500
301 LBIE A= 50,000 23,690 26,310
p) 25,000
[ 7,500
Al 17,500
14 BB A2 50,000 23,690 26,310
OEAMHOIEN 2¢Y 50,000,000 %1 Al 50,000
p) 25,000
[ 7,500
Al 17,500
(2)UEX BAZOIER 29 20,000 495 19,505
p) 10,000
[ 3,000
Al 7,000
301 LBIEAS 20,000 495 19,505
p) 10,000
[ 3,000
Al 7,000
14 JEI2A 2 20,000 495 19,505
ONEXEATOIER 2N
20,000,000 * 14l 20,000
p) 10,000
[ 3,000
Al 7,000
(2)Z20IE HelX< 1,388,000 1,159,800 228,200
= 694,000
[ 208,200




2N B85
M D|E2el(2H->E/D1)
el Dl 83xy (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Al 485,800
402 LI2EAFE01M 1,388,000 1,159,800 228,200
s 694,000
& 208,200
Al 485,800
03 BIZIRIEFAI L] 1,388,000 1,159,800 228,200
O=d0IE XMelXA
1,388,000, 0002 * 14! 1,388,000
s 694,000
& 208,200
Al 485,800
Z20IEXM2IXIA 150,000 150,000
402 LIEAFE01 M 150,000 0 150,000
03 QIZt2 S ALHI 150,000 150,000
OZdI0IE XMelX& 150,000,000 %1 Al 150,000
(2)HHTIH M= 79,200 50,540 28,660
| 71,280
& 3,960
Al 3,960
301 LBt2d =S 79,200 50,540 28,660
| 71,280
& 3,960
Al 3,960
01 ARSI EEE6IZ(F L2 ZR) 79,200 50,540 28,660
OSHIIIARZSH XIS 79,200
—HEEH 71,200,000 %1 Al 71,200
Il 64,080
= 3,560
Al 3,560
—S0HS 8,000,000 14l 8,000
Il 7,200
= 400
Al 400
(2)5SSEFEREINHIRAI A 3,305,600 2,504,000 801,600
= 1,652,800
L= 495,840
Al 1,156,960
301 LEtEds 3,305,600 2,504,000 801,600
= 1,652,800
& 495,840
Al 1,156,960
14 JIEtE 43 3,305,600 2,504,000 801,600




2A:

X XH -
(=

Snk SRS (Etel: F2)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
OS2 F/ALIIHIR K AAS

1,600,000 *2,066CH 3,305,600
= 1,652,800
& 495,840
Al 1,156,960

(2)4ES2=FERITXIIHIRKIE A 1,200,000 0 1,200,000
= 600,000
= 180,000
Al 420,000

301 LetE &= 1,200,000 0 1,200,000
= 600,000
L= 180,000
Al 420,000

14 JIEtE 43 1,200,000 0 1,200,000

OIS SR EI | HR KA

4,000,000 *300CH 1,200,000
= 600,000
& 180,000
Al 420,000

(=) = FHEINH I HIXI KA 373,000 0 373,000
= 186,500
& 55,950
Al 130,550

301 LBtEHZ 373,000 0 373,000
= 186,500
& 55,950
Al 130,550

14 J|Et2 43 373,000 0 373,000

OL-FAAI|HZIIHIXEKI 2 ALS

3,730,000+ 100CH 373,000
= 186,500
& 55,950
Al 130,550

(DD F I EAST PR EKI R ALY 110,000 280,000 A170,000
= 55,000
= 16,500
Al 38,500

402 QIZEXHE0|H 110,000 280,000 A170,000
= 55,000
& 16,500
Al 38,500

02 QIZINEALE X (01X ) 110,000 280,000 A170,000

O=1Es=XHE LPGRIF ALY

1,000,000 *110CH 110,000




SN #1225
M D|E2el(2H->E/D1)
el Dl 83xy (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 55,000
& 16,500
Al 38,500
()M EXI(OPF) 2= 214,500 760,000 A545,500
= 107,250
= 32,175
Al 75,075
402 BIZHIHE0| ™ 214,500 760,000 A545,500
= 107,250
& 32,175
Al 75,075
02 QIZFRHEAIH S (OIFTHA) 214,500 760,000 A545,500
OXZLAXI(OPF) £ = 3,300, 00024 +65CH 214,500
2 107,250
& 32,175
Al 75,075
()AL AHAME DI 495,000 297,000 198,000
= 297,000
= 59,400
Al 138,600
202 DI =01 495,000 297,000 198,000
= 297,000
& 59,400
Al 138,600
02 QIZFXHEAIH S (0| ETHE) 495,000 297,000 198,000
OAMIHAT D K2
16,500, 0002 *30CH 495,000
= 297,000
= 59,400
Al 138,600
(2) 20| SE R ZHPGRHE EHX| & AH 84,000 105,000 221,000
= 42,000
& 12,600
Al 29,400
402 QIEAFE01 M 84,000 105,000 221,000
2 42,000
& 12,600
Al 29,400
02 QIZERH2 A 2 (01X THA ) 84,000 105,000 221,000
O0glol Sstxte LPGIE Mgt XI&
7,000,000 +12CH 84,000
= 42,000
= 12,600




A S3Esh
M po|eg(&E/001)
el Dl 83xy (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
| Al 29,400
(2)INEEN=sABLAEZ A 72,000 72,000 0
= 43,200
< 8,640
Al 20,160
402 I2EXHE01M 72,000 72,000 0
= 43,200
& 8,640
Al 20,160
02 QIZFXHEAIH S (OIETHE) 72,000 72,000 0
ONEE M=sAB2d WAl K&
72,000,000+ 14! 72,000
= 43,200
& 8,640
Al 20,160
(DVLAAZDGHMAIEE SRIAIE XA 220,000 216,000 4,000
= 122,000
& 30,000
Al 68,000
402 2I2EXHE01M 220,000 216,000 4,000
= 122,000
& 30,000
Al 68,000
03 SI2tRAS A 220,000 216,000 4,000
OaE SAAMEE SXIAIE EXIXE
220,000,0002* 14! 220,000
= 122,000
L= 30,000
Al 68,000
(2)AR2GMAIE ZE X AL 2L 5,000 4,629 371
& 1,500
Al 3,500
402 QIZEXHE01 A 5,000 4,629 371
& 1,500
Al 3,500
03 SIZtRAE A 5,000 4,629 371
OLAZ2INMAMSE LRIAE e 2HKA
5,000,000 *14] 5,000
& 1,500
Al 3,500
(2)O0IMSHX SHHS ol - 2FAl ALY 30,000 21,000 9,000
s 15,000
L= 4,500
Al 10,500




SA: BAES Y
HE: (0|22 (8=3/001)
el Dl 83xy (Crel: &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
101 Q12| 30,000 21,000 9,000
z 15,000
[ 4,500
Al 10,500
04 JIIRIZZ RS2 30,000 21,000 9,000
ODINIBH XSSO LAl Q12|
15,000,000 2% 30,000
by 15,000
[ 4,500
Al 10,500
(S)OINIBIX A S MXIAL 30,000 30,000 0
[ 9,000
Al 21,000
401 Al2HIZ =00 30,000 30,000 0
[ 9,000
Al 21,000
01 Al&HI 30,000 30,000 0
ODINIgiXI AIES HX
10,000,00021%3I4 2 30,000
[ 9,000
Al 21,000
(E)RRIESEFI AR AL 10,000 0 10,000
[ 3,000
Al 7,000
402 QIZIRHE0IA 10,000 0 10,000
[ 3,000
Al 7,000
02 DIZERHE AR EE (O THE) 10,000 0 10,000
OQIBEEFI| LRI XIS AL
10,000,000 % 1CH 10,000
[ 3,000
Al 7,000
(2)ZIXSHSEEEIILXIR A 15,000 0 15,000
[ 4,500
Al 10,500
402 QIZIXHE01E 15,000 0 15,000
[ 4,500
Al 10,500
02 QIEXHEAIIE X (OIXTHE) 15,000 0 15,000
OMIINSHAEETI| LRI XA
1,000, 00024 % 15CH 15,000
[ 4,500
Al 10,500
(2)ZIIXSI ROHXI 4,090,000 5,968,000 1,878,000




2N BEES
B (1|92
oy

Snk SRS (Etel: F2)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
= 2,350,000
[ 696,000
Al 1,044,000
402 QIZIRHE0IA 4,090,000 5,968,000 1,878,000
= 2,350,000
[ 696,000
Al 1,044,000
02 QIRFRHZAFIEE (OIF TH) 4,090,000 5,968,000 1,878,000
OISR 204 X
4,090,000,0002*14] 4,090,000
= 2,350,000
[ 696,000
Al 1,044,000
(2)ZII01EX ESAH 64,000 66,600 A2,600
= 32,000
[ 9,600
Al 22,400
402 QIZIXH=01E 64,000 66,600 2,600
= 32,000
[ 9,600
Al 22,400
DN EENFSIED) 64,000 66,600 2,600
O®II0IZXt 20§ X
64,000,000 %14l 64,000
= 32,000
[ 9,600
Al 22,400
EEpSETEE] 32,664 22,464 10,200
BRI RCTE=REREES 32,664 22,464 10,200
201 ey 32,664 22,464 10,200
01 AlR2+2lt] 1,200 1,200 0
OBANMRLS B8 340 9 OHY2 |
= 60,0005 A-*43] 1,200
02 2229l 31,464 21,264 10,200
OLXA ol & eEag 93 30,000
—dJI= 50024 10,00024x23 10,000
—=5& 5002%20,00021%23] 20,000
OB HNMRLS IIMHE 242
801% 15,0002 1,200
OBAMHRES XIZEDI (KHSOIM S2=4l)
42 22,00024% 122 264
HOIS22H(EHE/HDIS) 14,614,067 12,962,812 1,651,255
= 99,000
[ 85,647




2 BAES
M HDISLVH(EF/HOI2)
c?l: HIISIIBAIE 2l (CHo: X 2l)
SA - B . SIS - NRAY - BaS ofl Ao ] HIS2
Al 14,429,420
HIISI AL 22l 104,500 65,984 38,516
FESHelH2Y 103,660 65, 144 38,516
101 Q124H] 4,926 0 4,96
M IIRIR22ISES 4,926 0 4,96
OAZIHRE HZEZY IPAIA 4,926
—Jl=s 76,9602 2% * 142 <23 4,310
—FEAY 76,960 20x2%x22*235] 616
201 L2 A 78,634 46,144 32,490
01 AFR2t2IHI 74,434 36,352 38,082
OZJI0H & 22 55,472
—EELX2T 20| 3602
176,000 12 2,12
—AZHEE EXARE
3,000,0002* 122 36,000
—EXNAFEIIZ 1,000,000/ %14! 1,000
—EELHEIAL 22
1,000,0002 % 1HA 1,000
—EE4 A% S2EAA
600,0002!* 1} A*4=2 D] 2,400
— XISt ZALE 360,000 x4 =42 | 5,760
— MK SEAA
100,000+ 14 A*4=2 | 400
—=H EAQAT AA
1,200,000 x 1) A*42D| 4,800
—2A OHRIDIA AL
500,000 * 14 Ax4=2 | 2,000
OR4 OIS, &4 IHREE 22(HI2AM) 18,412
—EE4HelAd e
1,000,0002*1HA 1,000
—EE4X2E 20| 36022
176,000 % 12 2,112
—EES AL S2ZAA
600, 0002 *304 A 1,800
— XISt ZBAHE 360,000 %50} A 1,800
—ZH EYQAT HA
1,200,0002 %34 A*2H 7,200
—2hA OHRIDIA AL
500, 0002 %374 A#3E 4,500
OHII2 85T =42
55,0002 %1074 A 550
02 2229H| 4,200 9,792 N5,592
OAlZ B2 MYDIHER ®IIe2 3,840
—O0tXI= 300,000 %12 3,600
-3 10,0002 %12 120
—F4 10,0002 %122 120




2 BAES
M HDISLVH(EF/HOI2)
cHel: HDISD|BHAIAE 22| (crof: 221
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OF=4+H2lH MolxTe=
30,0002 %12 360
401 AN AHI 220 20,100 0 20,100
01 Al&H] 20,100 20,100
OOHIS EE4Xeld 2eIAHB0MS0IE)
=Py 10,000,000 * 14! 10,000
OMEZHE 2E2 H2IH 22
2,500,000 +2J 2= 5,000
OMZHREE 2 24
1,700,0002 %371 A 5,100
ORI = FHIAFY 840 840
201 B2 A H] 840 840 0
01 AF22t2IHI 840 840
O 22249/9H35| & &t
70,0002 +6H*23] 840
EEBIB:E 14,373,837 12,802,002 1,571,835
= 99,000
[ 85,647
Al 14,189,190
THE2EF ALY 765,200 748,200 17,000
201 L2 A 67,200 59,200 8,000
01 AFR2t2IHI 51,360 59,200 NAT7,840
OXtzsold J|g 2 HWEH2=EA 40 =
60,0002 *500H 3,000
OL32E M2 22 A=
20021%10,0000H 2,000
OMHEE 22/HiE 222 HE
20021%20,0000H 4,000
OHEZS 25t 660,0002 %63 3,960
ONEEE WE 2922 72
2,00024%13,500H 27,000
OUl&=MY D] DA 29 W HME
2,0002%5,0005 10,000
OSHE SAFHIEI} 22 2L
70,0002+ 10E*23] 1,400
02 2229H| 15,840 0 15,840
OMYD| =X 31422 XA
220,000246CH+12& 15,840
206 XHEH] 50,000 75,000 125,000
01 X2l 50,000 75,000 25,000
ONSRE 221318 7Y &3
250, 0002 *200H 50,000
303 ZAZ 3,000 3,000 0
01 ZAZ 3,000 3,000
OSHE S3FHITIL Al 3,000
— %Rz 1,000,0002 %274 4 2,000




A

SFES

M HDISLVH(EF/HOI2)
e Med) Xel (G2 &)
SA - A SR(B) - AIRAI - BAS o vy ] bl D2
—&d 500, 0002 %24 A 1,000
307 2I2H0I& 20,000 20,000 0
02 QIFABAAIIE X 20,000 20,000
OAIBIOIH FHOPHs Ol2My )| DAl 2H(EX8
o) 20,000,0002* 14! 20,000
308 XXIEHRISOIA 531,000 531,000 0
12 eI 3 531,000 531,000 0
Ol IExd=2Y=2 1524x35,400,000kg 531,000
401 AlEH 2 S 94,000 60,000 34,000
01 Al&H] 94,000 60,000 34,000
OSHE S2FHIEIL AAIIHI 60,000
— X2 20,000,0002 *27H A 40,000
—&d 10,000,000 %27H A 20,000
OMYD| =B8R 3|1422 AXIAY (FCIE001A)
8,500,000 *4CH 34,000
EEPIEESIEES 398,968 75,920 323,048
101 Q124H] 325,928 0 325,928
M IIIR22NEES 325,928 0 325,928
OMEMYD| HIEX| =<0 148,920
—Jlz=2 76,960 2«9 180 124,676
—F7=+g 76,9602 9% x30L! 20,780
Y= 76,9602 %9 x5 3,464
O2=22 HZERX 22X A
38,4802*23% 200 177,008
201 L2 A 28,640 22,720 5,920
01 AFR2t2IHI 26,120 20,200 5,920
oMYDIEgE)I2E g8 NI
502/%30,0000H*23] 3,000
OMYDISHEII2E JDT ME
100,0002/% 1007H A 10,000
OSYE)| ot Zgi= Do
200, 0002 *52 1,000
OMYDIZ2HEII2E S50 A
60,0002 %100 6,000
OMSMYD| HHEX 0| 22 6,120
—&EF= 100,000 9214 900
—ot= 50,0002 %921} 450
— =5} 200, 00021 +9% x 14 1,800
-2 30,0002 *9% =14 270
— = 30,0002 %91} 270
—OHN D (H) 30,0002 %92 * 1M 270
-3 5,000 x99 +82 x3N 1,080
—22A420tA3 1,000 *0%+8 2 x 15} 1,080
02 2Z2%H| 2,520 2,520 0




A
X‘l iH:
C}—Ol :

BEES
HolS2ZE(&3/HII8)
Melol HMel

SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
OMYDIZYED| St SAIRE
70,0002 %3CH* 122 2,520
IEEEEE] 400 400 0
14 J|EI2 A3 400 400
OMYDISHED| Al TAZ
40,0002%1024 400
405 THAHF| EH 44,000 52,800 8,800
01 XA SEF SH 44,000 52,800 8,800
OMYDISHED| S8 01SA! It 7Y
4,400,000 % 10CH 44,000
A 2 209,680 154,634 55,046
201 L2 A 171,040 117,954 53,086
01 AFR2t2IHI 1,600 1,800 2200
OsASN 22X A5 2
100,000 +8% 800
OSHARN 22X FHe= e
100,0002+8% 800
02 2229H| 169,440 116,154 53,286
OFAX S || 169,440
—A207224( 2EHI0l, JtER)
1,92021%6002| £ 1,152
—05A3BN(AER, HR)
1,8102*4, 8002/ E 8,688
—91L20655(2ESHEl, FR)
1,8102%4,8002! € 8,688
—9543659( ZAHIRE, HR)
1,8102%4,8002! £ 8,688
—95A3607(SAIZMY D2, BR)
1,8108%7, 2002/ 13,032
—86248601(SAI2MY D4, BR)
1,8102%7, 2002/ E 13,082
—0BAARA0(BSASMY DL, BR)
1,8102%7, 20021 13,082
—91820621(SAI2MY D41, BR])
1,81024%7, 2002/ & 13,032
—03R6495(SAI2MY D4, BR)
1,81081%7, 2002/ 13,032
—872833B (A &2, JISHA, HR)
1,81020%2, 4002/ 4,344
—54K7843(SWV, SHEBE AR
1,81024%2, 4002/ 4,344
—0X914(ZEES52, IIMEI, BR)
1,8102%4,8002 € 8,688
—8120976( =HH AR, AR)
1,8102%2, 4002/ E 4,344
—8AC22B( = HE AL}, HR)
1,81020%2, 4002/ 4,344




2 BAES
I HDISL(EF/HIIZ)
ol MDl HMel (chel: & 2l)
SA - FH . SRI(B) - HIRAY - BAS il b ] Hl D=2
—HAXY 2AH 2 ABEH S
250,000 % 17CH 122 51,000
206 XHEH| 38,640 36,680 1,960
EED 38,640 36,680 1,960
OLBEAR M2 &7 15,120
—E22i4(E) 320, 00084 <2JH 128 7,680
—AOIEE4(HHE)
160, 0002 #2122 3,840
— B4 (HIAE)
300,000 * 1l 12 3,600
O&H0I3H HUeR 19,680
—THEE S0t
10,0002 %3074+ 122 3,600
—Jl2HA2 0ty
40024%1, 2000 122 5,760
—gIxz2 5,000 %4304 122 2,580
— M| 5,000 434122 2,580
—& 5,000 %431+ 12 2,580
—JIEt HAR e
5,000 %4304 122 2,580
OHMIXt HIEH2IAE HZE 2 S
300,000 * 1142 1,200
ONZHAE AT B2 HH|A
110, 000 *24H 2,640
MAYDIERICI(ME L SAI2) 11,870,218 10,729,266 1,140,952
101 Q124H] 69,649 66,319 3,330
M IIIR22RER 69,649 66,319 3,330
OSA2RHIISLERI| NN 69,649
—JIE= 76,9602 x5 150 57,720
—F5rd 76,9602 x5 #2521 9,620
—ARRSEILY
76,9602 x5 Hx6L 2,309
201 LB 30,580 30,600 A20
01 AF22t2IHI 5,200 0 5,200
OUEHDIZS HHEAIAL 5,200
—=2Z Sl 1,000,000 +4=D| 4,000
—HEEHDI2 IHEZR =22
100,000 % 12 1,200
02 2Z29H| 25,380 30,600 5,220
OZeIsIRA ®MIIR3
5,000 1087 A * 12 6,480
OFAXIZ BRI AlA" AR
15,0002 %250 122 4,500
OJtols MEHD|I2 Ha® M=
1,000,0002* 122 12,000




A

X‘liH:

SFES

HolS2ZE(&3/HII8)

e Med) Xel (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
Ou& M| nal IS8 22 S22
100,000 *2CH* 122 2,400
206 M=l 30,750 29,250 1,500
EED 30,750 29,250 1,500
ESHA 2 AR 55,0002+ 1504 8,250
OSA2RHDIE F2A44ER2I| 7Y
45,0002%500H 22,500
207 SIRIH L 35,000 35,000 0
01 AP 35,000 35,000 0
OMSHD |2 $Z28F DIZHHE 2 S2Hk|
S5 THHOHE RDIEAL B9
15,000,000 * 14! 15,000
OMSTHD |2 $Z28F DI2HHE Bt 2
10,000,0002* 14! 10,000
OSAIZRHIIS 2EHHRIHI FIIEA 2
10,000,000 * 14! 10,000
307 2I2H0I& 11,207,853 10,076,016 1,131,837
05 QItQE S 11,207,853 10,076,016 1,131,837
OsAS2MY )| 28 2 X2 a2 1,730,000
—=g 30,0002%6,000 180,000
—xi2l 145,0002+6, 000 870,000
—gtes2|ma Haldl
170,000 %4, 000E 680,000
O%STelna A MEHD|Z2 X2l
120,0002/%24, 000 2,880,000
OMSMYD| SE28F (2
9,30024%50, 608l 122 5,647,853
OASTRInT JIA MEHD|2 Brel O
A 950,000, 000! * 14! 950,000
308 RXISHHSO0IA 76,386 67,081 9,305
07 RXISHHZHRES 76,386 67,081 9,305
ore=R|ma FOXHII2 AR 2E2
76,385,902 % 1Al 76,386
401 A& HIL 2 0HY| 420,000 395,000 25,000
01 Al&H] 420,000 395,000 25,000
OZRIGI2A (MSHII2 HESHAIE) &
X 15,000,00024% 154 4 225,000
OSAIS2HIIZ2 Z2I1DI(RFID) XA
2,000,0002*707H A 140,000
OJIie MEHDI2 Hatd QX 22
55,000,0002 % 1HA 55,000
MUDIEZHES 2 479,501 389,522 89,979
201 LBt dH 124,901 87,522 37.379
01 AF22t2IHI 37,200 3,000 34,200
OZZNEE HiE 222 N
20021%10,0005 2,000




2 BAES
M HDISLVH(EF/HOI2)
e Med) Xel (G2 &)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OZLNEE JELSEE
1,280,000, 00024*2. 75% 35,200
02 2229H| 87,701 84,522 3,179
OSASRHIIE2 S2IIIIRFID) SAR3
4,20094 %307 CH 12 15,473
OSA22HIIZ2 E2IJI(RFID) HIIL2
4,0002 %2000 A% 122 9,600
OSAIZ2HIIS S2I1II(RFID) KX
1700024307 =122 62,628
206 XHEHl 260,000 238,000 22,000
01 XHEHl 260,000 238,000 22,000
OMYDIBEM M2ES M 260,000
—MEMYD|IZ2E HIX
502%4,400, 0002 220,000
—SAER HDIE 25 HH
5024%780, 000 39,000
—=328 ¥ ME 504%20, 0002t 1,000
207 SN 23,000 0 23,000
02 & ADHEH] 23,000 23,000
OZHNSE QEY 22IAAE 25
23,000,000 * 14! 23,000
307 2I2H0| & 64,000 64,000
05 QItES 64,000 64,000 0
OMYDIZZH THHCHE 28
1,280,000, 0002 *5% 64,000
405 KHAHE SH 7,600 0 7,600
01 XU SEF SH 7,600 7,600
Otesa)| Re(SHs)
400,00024*19H 7,600
(DI HEE2ELTZNS 1A 22,250 22,250 0
[ 6,675
Al 15,575
301 BB 22,250 22,250 0
[ 6,675
Al 15,575
14 JIEIE A3 22,250 22,250 0
ONE2E $2242 X
22,250,000 14! 22,250
[ 6,675
Al 15,575
WEEE=EPSSEPC=INE] 103,700 102,500 1,200
301 LEEXS 103,700 102,500 1,200
14 J|EI2 A3 103,700 102,500 1,200
OHX =HEAS 103,700
—HieIE 12020%700, 000kg 84,000




SA: BFESD)
M EHD|ISLSHESB/HIIS)
ol MDl HMel (crel: M)
A EB - SRI(E) - KIRAY - BaS ol v ] HIDE2
—sHY(ReY) 1502%10, 000kg 1,500
—=ABIY(EctAE) 800= %10, 000kg 8,000
—=%4=X 1,000%7 ,200kg 7,200
—HX 502430, 000kg 1,500
~HRaly 502420, 000kg 1,000
—HS2AE 5020%10,000kg 500
(sZEMEHY FABAS 150,000 200,000 50,000
= 30,000
[ 36,000
Al 84,000
301 YBHEEZ 150,000 200,000 50,000
= 30,000
[ 36,000
Al 84,000
14 JIE2A2 150,000 200,000 A50,000
OsZEMHHY +HBAS
150,000,000 * 14! 150,000
= 30,000
[ 36,000
Al 84,000
(2)2SToE &= 30,000 59,830 A29,830
= 9,000
[ 6,300
Al 14,700
401 A2 220 30,000 59,830 A29,830
= 9,000
[= 6,300
Al 14,700
01 Al&H 30,000 59,830 A29,830
OY=HH Y ZSasIE&EN
5,000,000 *67H A 30,000
= 9,000
[ 6,300
Al 14,700
ASIEEDIS el 162,080 151,080 11,000
201 2Bt 7.080 6,080 1,000
01 AFR2elY] 7.080 6.080 1,000
Ogxl - SYHDIZ 2& 80 HIE
60,0002 * 1994 A*23| 2,280
Owxl - SYHDIIZ 28 E22 HE
2,00024%1,0008+13] 2,000
OHDISHIEAIAE S M= & o3t
200,000 3% 600




SN SZ2e
M HOISL(EZ/HIIS)
el MelDl Xel (EERSED)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
OSSN HI 220 Z50] S
1,200,008+ 14! 1,200
OSYHIIZ ZA 242
1,000,000 %1 4] 1,000
307 SIRI0IA 155,000 145,000 0,000
05 BIISEr2 155,000 145,000 0,000
OB E &K 300,000 %500= 150,000
Ogxl - 28HDI=Z 8Kl
500,0002/+10E 5,000
(S HEEZECIHENSERIAY 60,000 0 60,000
3 18,000
Al 42,000
401 A2 012 =0H0] 60,000 0 60,000
= 18,000
Al 42,000
01 AIZH 60,000 0 60,000
OMEBE=2IEAL LR
15,000, 0002 x47 2 60,000
3 18,000
Al 42,000
(S HSSEIFAZSAMEINSAL 2,240 2,800 560
< 672
Al 1,568
402 BI2IAF=01 A 2,240 2,800 2560
3 672
Al 1,568
02 ST AIZAFS 2 (O1M A ) 2,240 2,800 2560
OBls 8| R TR SO A ZII XA
800, 00024 *4CH70/ 100 2,240
= 672
Al 1,568
() HEESUDIZET A 120,000 50,000 230,000
= 60,000
= 18,000
Al 42,000
401 A2 012 =0Hg] 20,000 50,000 30,000
= 60,000
= 18,000
Al 42,000
01 AIZHI 120,000 50,000 230,000
ONgs suiorg &x
15,000, 0002 x84 2 120,000
= 60,000
= 18,000




2A:

SFES

M HOISLSH(EF/HIIE)
Sl MdI| Hel (chel: & 2l)
S - B - ORI(3]H) - HISAR - BaS Ol kot ] HIDE2
[ Al 42,000
EENECREE 135,730 94,826 40,904
EENERER] 135,730 94,826 40,904
201 L2 A 90,216 85,486 4,730
01 AFR2t2IHI 76,216 68,654 7,562
O&EHSITEIL 22| 12 (1BIIF), HoIX|ollat
370
—Jl= 250,000« 12+ 1AI 2+ 250
—=u 120,000« 12+ 1Al 2 120
OSAHDISIAANRA BI|E AH 55 =53
1,000,0002* 14! 1,000
OErZ0I5 2tAIH| (SHHIES)
3,0002%37H*252Ux 122 33,300
OsZ0I3IY ARN 22 39
5,0002%37 122 2,220
OA0I3Y AIRA S8 23
12,0002 %122 144
OHA0ISHA AIRA H2D| 8l
40,0002 %122 480
Ogrd0I5t T2l £ 34,590
—== 200,0002 %37 2*1H 7,400
—ot= 100,0002%37 1Y 3,700
— ko5 100,00024*37 %1} 3,700
—29] 30,00021%37 &1} 1,110
—Z)|(oHN, Pg, ee)
40,00024%37H*304 4,440
—20otA (SAIZMYI| =AH)
20,0002 % 10H* 1= 122 2,400
— =3} 50,0002 %371} 1,850
—OIME (JIREA H2, 19 U
30,0004 #3714 1,110
—JIEF (2, RNAMISH, =AM )
20,0009 %37 A 12 8,880
O=HA0I3H E/YAl (SHHE) 1,280
—EE 110,000 x2%* 174 220
—Fd3 500, 0002 *22 1,000
—3i4e0t 60,00024% 14 60
O=HA0I31Y 2EH2Rl SlEAEE
60,0002 * 12 720
OSH0IFHAARA LHAIAL FIMHAIR2
176,000 122 2,12
02 2=29H| 14,000 16,832 A2,832
OEH0I3H AFRA!l 2 DX Al 22
1,000, 0002 %27 A 2,000
OSH0IHA AIRA! 2 AIXIAIE ®IIR3
800,000 * 12 9,600




2 BAES
M HDISLVH(EF/HOI2)
Chel: SF0IsH 22| (CHl: X 21)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
O=HH0IsH AMRA AlstEERa
200,000 %122 2,400
IEEEEE] 5,720 6,960 1,240
EEREE 5,720 6,960 1,240
O XY 518 SAHCHHIE )
60,0002 %4224*13] 2,520
O=Hd0|51e FHUEEAX MRIX] HBHSHHIE S,
BHSXH Z&) 500,000 +4 2413 2,000
OH0I3HY XX A3 XX (SHHIE )
600, 0002 *2CH 1,200
307 2I2H0I & 9,114 1,380 7,734
NIEEEEED] 9,114 1,380 7,734
OUYES (M) 9,114
] 30,0002 x42% 1,260
—Id3S 30,0002 x42% 1,260
—Fdd £€< 9,000 *422 33| 1,134
—HE+a 130,000 %422 5,460
401 A& HIL 2 0HY] 24,000 0 24,000
01 Al&H] 24,000 24,000
OEH0ISI AR SAHASS X242
12,000,000 %274 A 24,000
405 KHAHE SH 6,680 1,000 5,680
01 XA SEF SH 6,680 1,000 5,680
OEZ0I3H AtRA! QX
200,000 <4} 800
OEZ0ISHY AtRA! 2igH|E
1,000,000 %14 1,000
OEZ0I3Y AFRA! IHH|
110,0002482¢ 880
OEA0ISHR AFRA! W)
3,000,000 % 1CH 3,000
O=HH0IsH AIRA HIED| 22
1,000,000 *1CH 1,000
Q- Hi 22| (BH-H/AdleE - +F) 774,255 4,789,654 A4,015,399
= 270,000
[ 84,000
Al 420,255
S22 774,255 4,789,654 24,015,399
= 270,000
[ 84,000
Al 420,255
[EESSETESnIE] 119,449 100, 110 19,339
101 Q124H] 32,171 31,072 1,099
M IIIRI2Z2IEES 32,171 31,072 1,099
OZ=sEA gx2el 32,171




2 BAES
I Q- Hip 22| (BHH/MOIEE - 2F)
ol =Ea2e (chel: & 2l)
SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
—ggs 76,9602 *x2H* 1252 19,240
—REE 115,440 =2 *40 9,23
-5 2 x4
76,9602 x2% %242 3,69
201 L2 A 86,000 67,760 18,240
01 AFR2t2IHI 16,500 16,500 0
OXSIE HA OHH HM M
10024 1,0000H 100
O3F3FA S HARE 7Y
50,0002 %507 A*33 7,500
O2E31TA 299 44
70,0002 %10 %23 1,400
OOIECI2 2E31EA 22 7,500
—2EFA 235 2E2NR
1,0002%1,0008+15 1,000
—HI} 45 FA HORE
300, 00021%5H A 1,500
—HYE SSEEA HARE 7Y
50,0002 %1007 A*13 5,000
02 2229 69,500 51,260 18,240
OFstx 22| ¢ Z2 )l NS
350,000 %122 4,200
O2E3EA RXL2H]|
2,100,0002*207H A 42,000
OZEsEA &3
1,650,000 122 19,800
OZE3IEA otalgl S8R
250,000 % 122 3,000
Ot=3 & A3 500,0002 % 14! 500
307 2I2H0IA 1,278 1,278
05 QItES 1,278 1,278 0
O2L4E2 AR A4n23
10024 1,065E 12 1,278
SEUSAQARP] 74,306 66, 144 8,162
101 QI24H] 33,402 33,636 N34
M IIIR2Z2NEES 33,402 33,636 N34
OBHEZAIZ At 33,402
—JE2s 76,9602 x22* 180 27,706
—F5=+g 76,9602 x2Hx30L 4,618
—AHRSEISY
76,9602 x2H*7 1,078
201 L2 A 15,904 7,508 8,396
01 AFR2t2IHI 10,000 2,000 8,000
OSARYAID S&H2l HE
2,000,0002 %53 10,000
02 2Z29H| 5,904 5,508 39%6




A S3Esh
B o[ 22I(BY/HHLS - +E)
oot A ate| (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
GEEETSHER=EE]
1,920 *1,2002| & 2,304
OotsIEETIE SRR
150,00084* 122 1,800
OAFEEXE S|
150,000&*1CH+ 122 1,800
207 AN 25,000 25,000 0
01 ¢ ESH| 25,000 25,000
O MEHoIE=JAY SAME BLEHE 29
25,000,000 14! 25,000
(&) SSSEAINEA 220,000 320,000 A100,000
= 66,000
Al 154,000
401 AIEHIZL 2 CHYE] 220,000 320,000 A100,000
L= 66,000
Al 154,000
01 Al&Hl 220,000 320,000 A 100,000
OS=sHEa N A 220,000
—otYE SSSEAINLSAIS
120,000,000 * 14 120,000
& 36,000
Al 84,000
—&EH SSELINEAY
100,000,000 14 100,000
& 30,000
Al 70,000
S G4 orad(aets) A 12,500 12,500
401 AIEHIZL 2] 12,500 12,500 0
01 Al&HI 12,500 12,500 0
O3EHaA ol oryHi(2eE) &R
2,500, 000& #5012 12,500
(DVHIELG A2 AL 260,000 1,602,900 21,342,900
= 200,000
& 18,000
Al 42,000
403 AXISHISAH=01H 260,000 1,602,900 21,342,900
= 200,000
L= 18,000
Al 42,000
02 BI1 2SO K2 X AS AL 260,000 1,602,900 A1,342,900
OHIE2EZ MZIAHY
260,000,000& * 14! 260,000
= 200,000
& 18,000
Al 42,000




2N BAES
I Q- Hip 22| (BHH/MOIEE - 2F)
oot A ate| (crel: M)
S - EE - 9I(30) - HIRAI - BES ol &kt ] B2t
(2)5t&ot? KDl HaAY 88,000 88,000 0
= 70,000
Al 18,000
101 Q124H] 88,000 88,000 0
= 70,000
Al 18,000
M IIHR22IEES 88,000 88,000 0
OB MY | LH2E 18
80,0002% 10110 83,000
= 70,000
Al 18,000
S SHAY|(BHRIES ) (JIEHDIE 2,223,073 2,488,098 N265,025
ol 2| 2,057,403 2,325,908 N268,505
REEEE] 2,057,403 2,325,908 N\268,505
101 Q124H 2,057,403 2,325,908 A268,505
03 22X (RIH) 2224 2,057,403 2,325,908 N268,505
Ogd0I3te o1ed(1352 J|F) 2,057,403
—Jl2s 3,207,000 +37 8+ 122 1,423,908
—H24Y
3,207,000 *75%+50%+*37 223 88,99
— I 542G ()
40,0002%37 128 17,760
=== M) 20,0002 x20% * 122 4,800
—IE=2H(EM) 60,0002 x20%H * 122 14,400
—JIE2(JIEH 20,0002 111 12& 26,640
—HESIH|
3,207,000 *75%60%+37 223 106,794
—AIRIRI2 R4t
17, 45421 % 150%*5 A1 2Hx37 2 12 98,122
—§24224H
17,4542 % 150820 A 2H+37 L * 122 232,488
—ARRSEILY
17,4542 x8 A 2H+ 152 %37 77,4%
— R 100,000 *5% * 12 6,000
|22 165,670 162,190 3,480
J1=2H 165,670 162,190 3,480
201 B2 A H| 38,530 34,930 3,600
01 AF222IHI 38,530 34,930 3,600
O=AMEX 7Y 20,0002 *x30 A x 122 7,200
OS20H4alY| 8,000 *6AIx30% * 122 17,280
Otz 100,000 * 12 1,200
OARD THTRAH 50,0002 % 122 600
OATE 24| 10,450




2 BAES
Ha: HHSAAH(BBSS W) (JIEHIIEH
o2t J|=3H| (crel: M)
SN - B SR(3H) - MBAR - BYS ofl Ao ] HIS2
—=ZADI(UE) 22
1,000,000241.5CH 1,500
—Iaif 2 100, 000 *5CH*50% 250
—=ADI El 200,000 %53 1.5CH 1,500
—HEE EL(SY)
200,000 %53 *5H 5,000
—TRIE El(2H)
200, 000253 = 1CH 1,000
—PC =cl 100, 0002 *30CH*20% 600
—JIEt 22l 50,0002 * 122 600
OJIEL AFR2t2ltl 5,0002%302* 12 1,800
202 04| 118,800 118,800 0
01 =LA 118,800 118,800 0
OZ2otdl 20,0002%302* 122 x 12 86,400
O2204d| 90,000 %30 122! 32,400
203 LREZXIH 7,140 7,260 A120
04 ENSHARETIH 7,140 7,260 A120
ORNSAARETH| 595,0002!% 122 7,140
204 Z2LAH| 1,200 1,200
01 ZHZ A4 AH| 1,200 1,200 0
OXMBARLLHAH|(BBES DA
100,000 % 12122 1,200
WSS (BAESW) (BF/AGIE - 27) 2,105,018 1,721,415 383,603
VESENE] 2,104,818 1,721,215 383,603
VESIEINE] 2,104,818 1,721,215 383,603
701 JIEFBIHEEES 1,557,960 1,158,000 399,960
01 JIEFIHEEZ 1,557,960 1,158,000 399,960
OFZMHLEESH HES 1,557,960
—2IoHeIAE 2gae| 22|
54,000,000 *6IH K| 324,000
—DIEIECAIE B Z A
7,0002%500m* 10 35,000
—2ZoHRIAE KMl S2laAY]
15,000, 0002 *387H A 570,000
—2IoHHIAE BIEE 2|54
5,000, 0002 %5574 A 275,000
— 2ot HEIAIE ISR DR &
== 125,000,000 * 14! 125,000
—22EHEIAIE SHX ™l
87,0002 %x90IH A* 122 93,960
— 235N (1) |SRICH)
130,000, 00024 14! 130,000
—225tHEIAlIE SR 22 X2
5,000,0002* 14! 5,000
PIERES 546,858 563,215 N16,357




A 3L
M TR

el LH;jE‘IEHﬂ% T - (crel: M)
SA - B . SIS - NRAY - BaS Oflare ] HIS2
01 JI=2d==2 546,858 563,215 16,357
OHDISMelAIEZTHZ0IX2) |12 HE2 546,858
—AXSHMEAS 400,000,000 *1A! 400,000
—FEAT(2021) MHIDIZETONHC| 10/100
1, 356 495,0002%10/ 100 135,650
—JAT(2021) HOISH2I+=4=22 10/100
112,072,00024%10/100 11,208
EENES 200 200 0
EFES 200 200 0
802 Bra20Ef 200 200 0
03 JIEIEIE2S 200 200 0
OMYD | ZSHZE &2

100,000 *22] 200




